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INSTRUCTIONS TO THE CANDIDATES

Candidate is required to write his/her Roll Numberin (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Booklet for rough work.

There are four alternative answers to each item marked as
(@), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the following illustration.
llustration:

1. Thesumof20and 12is

(a)32 (b)38 (c)31 {d)34

The Correct answer of item 1 is (a),
marked in OMR Answer Sheet as under;

1 1® ® © @

Haif filled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The Bookletand OMR Answer Sheet must be handed over
to the Invigilator before the candidate leaves the
Examination Hall. No page(s) should be torn out from the
booklet,

Keep OMR Answer Sheet straight. Do not fold it.

All questions are compulsory, each question carries one
mark andthere is NO negative marking.
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-Use of calculator/mobile/ any electronic

item/objection materialis NOT permitted.
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Section A

Who has given the concept of ‘Social Fact’?
A. August Comte

B. Emile Durkheim

C. Max Weber

D. Karl Marx

Who is not associated with the idea of “Utopian
Socialism’?

A, Saint- Simon

B. Charles Fourier

C. Robert Owen

D. Karl Marx

Who has tried to understand the development of
society from Gemeinschaft to Gesellschaft?

A. Ferdinand Tonnies

B. Raymond Aron

C. Jeffrey Alexander

D. Hannah Arendt

Who has given the concept of ‘Sanskritisation’?
A. A.R. Desai

B. M.N. Srinivas

C. Andre Beteille

D D.N Dhanagare

‘Each according to his ability and each according
to his need’ is the cardinal principal of

A. Capitalist society
B Radical society

C. Communist society
D Feminist society

Consider the following statements about ‘Pradhan

Mantri Jan Dhan Yojana’

I. It is a national mission for financial inclusion.

2. This scheme was announced by Prime Minister
Narendra Modi on 15 August 2014.

3. Guinness World Records recognises the
achievements made under this scheme.

Which option is correct?

A. Only 1 and 2 are true

Only 2 and 3 are true

Only 1 and 3 are true

All are correct
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.

In which famous case Supreme Court laid down
guidelines for dealing with sexual harassment of
women at the workplace?

A. Vishakha and Others Vs State of Rajasthan
B. S. R. Bommai Vs Union of India

C. Mohd. Ahmed Khan Vs Shah Bano Begum
D. Sarla Mudgal and Others Vs Union of
India

Which movement is not associated with
environment conservation?

A, Chipko Movement

B. Appiko Movement

C. J.P. Movement

D. Narmada Bachao Movement

Consider the following statements
1. The concept of primary group was
introduced by Charles Cooley
2. Relations in a primary group is very
impersonal in nature
3. Primary groups are generally long lasting
and enduring in nature

Which option is correct?

A. Only 1 and 2 are correct
B. Only 2 and 3 are correct
C. Only 1 and 3 are correct
D. All are correct
. Which one cannot be regarded as social problem?
A. Alcoholism
B. Corruption
C. llliteracy
D Nationalism

Which official committee is associated with the
issue of anti-corruption in India?

A. Santhanam Committee

B. Ajit Kumar Committee

C. Malimath Committee

D. Abid Hussain Committee

- Which concept is not associated with Marx’s

Socialism?

A. Class Struggle

B. Base and Superstructure

C. Dialectical Materialism

D. Organic and Mechanical Solidarity

CEEER—— -




13.

14,

15.

a4 4d 8

YATRISTAT & gFery & e Fuat @
ICEITg:Ty
THATRYETAT & sraeT FRAT Gl
TEITAT F qaTs TS F

HRT & YA H$ T5g U7 g7 &

R H YATATEIar 7 Aaew § 757 & gan
Tl 4\t & Y AR G9ER|
f=fafEa & ¥ #F @ Rees a8 &2
& Fad 1 3R 2 @l &

9. Fad 1 AR 3 @ &

T S e A

Togsy g

AR fdET i sEuron gt §
oo, U, Hrewoy

XA FERATH

FTGHA Goehr

ar i & afdfy @ T frar mar o
Afeenst & wFET ST SR &
AHAT H Feemal A IR FA oA
3 TR #F Fedr Farer & aF S
AR & AT 3chsa & AFET F et
g2

SfecH gAT afafy

SIieey Jemaea wiafy

SIReeH Heard wiAfy

SIhecH e wfRfy

I3. Consider the following statements about secularism
in India.

15.

1.

Secular character has been asserted in the
preamble of India

India does not have any state religion
Secularism in India means equal treatment of
all religions by the state

Which option is correct?

A,

B
C.
D

A,

B.
C.
D.

Only 1 and 2 are true
Only 1 and 3 are true
None of them are true
All are true

. The concept of ‘Cultural Lag’ is associated with.

Max Weber
W.F. Ogburn
Jurgen Habermas
Michel Foucault

Which committee was constituted to recommend
amendments in the criminal laws so as to provide
quicker trial for criminals accused of committing
sexual assault against women?

A.

B.
C.
D

Justice Verma Committee
Justice Chelameswar Committee
Justice Mudgal Committee
Justice Thakur Committee
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Section B

16. Consider the following statement about ‘Lok

Adalat’

I. Lok Adalat is one of the alternative dispute
redressal mechanisms.

2. Itis a forum where cases pending in the court
of law are settled amicably.

3. Lok Adalats have not been given statuary
status.

Which option is correct?

A. Only I and 2 are true

B Only 2 and 3 are true

C. Only 1 and 3 are true

D All are true

17. Which one is a correct statement about new
Juvenile Justice (Care and Protection of Children)
Act, 20157

A. It makes the provision that if a juvenile of the age
of 16-18 years is involved in heinous offences he
can be tried as adult.

B. It makes the provision that if a juvenile of the age
of 14-16 years is involved in heinous offences he
can be tried as adult.

C. It makes the provision that if a juvenile of the age
of 16-18 years is involved in repeated offences he
can be tried as adult,

D. It makes the provision that if a juvenile of the age
of 14-16 years is involved in repeated offences he
can be tried as adult.

18. Consider the following statement about Mother
Teresa
[~ She is originally from Britain
2. She is a winner of Ramon Magsaysay Peace
Prize
3. Sheis a winner of Nobe| Peace Prize
4. Headquarter of Missionaries of Charity is in
Mumbai
Which option is correct?
A. Onlyl, 2 and 3 are true
B. Only 2 and 3 are true
C. Only 2, 3 and 4 are true
D. Only 3 and 4 are true

u—_ ——



19.

20. "HIEHT & HeeX HEA Flo JIAT G H oz

21.

22.

T & WY AY YART F AGF FiT §2
&. HEIeHT el
. AR Ag%
7. TER TeasHTS oo
°. @ AdEee

& grey § 9 W ROr &Y

1 HARER Jur =

2. SC/ST & HeEg

3. faweriar st

4. Ruma & s ar

PR 7 ¥ #i7 @ Rees o &2

Fad 1,2 IR 3w &

dae 2,3 34 T &

Fad 1,3 3R 4 g &

g g geg §

ammmﬁ%ﬁmémmaﬂm

TFE, 0 #Hﬁﬁaﬁmmwww

1. A7 3ehsa & sfafed 9g Fow aeat &
3ol reAT &t oft Sfeq avar &

2. g T sTOl & AT 3edsT & AwEr
fRuRer & R 3ot =arTeT $AE Fv
WYl & &

3. IF Tl AHAT & MIAIAT sy T

N grau Far ¥

fefafed & ¥ a9 ¥ Reew o8 22

haor 1 3R 2 wE ¥

had 2 IR 3 W &

asir wer &

HIS o wEY A &

ST T SIehIe Uee, 2013 & GEEw 3

et wuat ) e &%

a.ugmmﬁvmmﬁw%
Eaey H §

Y. Ig Ve seranr-fad) vee §

w.ugmdmw:—ﬁmawﬁgunma‘:
FFeaey A §

9. FE UH Il IoAe e §

A4

a4 34 4 3§

19.

20.

.{kal\)'—‘

Who is the author of ‘My experiment with
Truth’?
A. Mahatima Gandhi
B Jawaharlal Nehru
C. Sardar Vallabhbhai Patel
D Swami Vivekananda
Consider the following regarding eligibility for
getting free legal services under NALSA
Women and children
Member of SC/ST
Disabled person
Person in custody

Wthh option is correct?

A.

Cow

Onlyl, 2 and 3 are eligible
Only 2, 3 and 4 are eligible
Only 1,3 and 4 are eligible
All are eligible

Consider the following statement about *The
Protection of Children from Sexual Offence Act,
2012°
Apart from sexual assault, the law also penalizes
substances of child pornography.

The law provides establishment of special courts
for trial of sexual offences related with children
The law also makes provisions for maintaining
privacy and confidentiality.

Which option is correct?

A.

B
C.
D

22.

@ >

Only 1 and 2 are true

. Only 2 anq:tare_,,‘true

All are true « »

. None of them are true

Which one is true about “The Lokpal and
Lokayuktas Act, 2013’7
This act is about reforming judicial system in India,
This is an anti-corruption act.
This act is intended to introduce reform in
Panchayat system
This is an anti-poverty act.
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Consider the following statements regarding PIL
Its full-form is *People interest Litigation’.
Procedure of filling a PIL is same as to filling a
usual legal case.

Justice P.N Bhagwati warned against the use of
PIL.

Which option is correct?

A.

B
C.
D
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A.

B
C.
D

o

. Oxfam

. Teach For India

Only I and 2 are true

- Only 2 and 3 are true

All are true

. None of them are true

Who was the founder of ‘Satyashodhak Samaj’?
Jyotirao Phule
Raja Ram Mohan Roy
Swami Vivekananda
Ishwar Chandra Vidyasagar

Who among the following is closely associated
with Vedanta Philosophy?
Lala Lajpat Rai
Arvind Ghosh
Vinoba Bhave
Swami Vivekananda

Who is associated with ‘Bhoodan Andolan’?
Jawaharlal Nehry
Vinoba Bhave
Lal Bahadur Shastri
Sardar Vallabhbhai Patel

‘Ramakrishna Mission’ was established by
Swami Vivekananda
Rabindranath Tagore

. Vinoba Bhave

Mother Teresa

. Which one is not an NGO?

CARE International

National Green Tribunal
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B
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Who has written ‘ Annihilation of Caste™?
Mahatma Gandhi

. Dr. B.R. Ambédkar

Rabindranath Tagore

. Bal Gangadhar Tilak

Consider the following statements about ‘Social
Movement’
Social movement is an organized effort by a
significant number of people for change.
Social movement does not necessarily involve
specific goals.
New social movements are not so much organized
on the line of class identity.

Which option is correct?

A
B
C.
D

. Only I and 2 are true
. Only 2 and 3 are true

Only 1 and 3 are true

. All are true
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Section C

Which article of Indian Constitution says that no
child below the age of fourteen years shall be
employed to work in any factory or mine or
engaged in any other hazardous employment?
A. Article 18

B. Article 24

C. Article 28

D. Article 32

Which one is not a part of ‘Fundamental Rights® of

Indian Constitution?

A. The State shall provide free and compulsory
education to all children of the age of six to
fourteen years.

B. No person shall be prosecuted and punished for
the same offence more than once.

C. There shall be equality of opportunity for all
citizens in matters relating to employment.

D. The State shall make provision for securing just
and humane conditions of work and for
maternity relief.

Which one is not true about ‘Fundamental Duties’

of Indian Constitution?

A. It has been inserted by Forty Second
constitutional amendments.

B. Safeguarding Public Property is a part of
Fundamental Duties.

C. Preserving the rich heritage of Indian culture is
a part of Fundamental Duties

D. Fundamental duties were added to the Indian
Constitution by following British model.

On which year United Nations General Assembly
proclaimed the famous Universal Declaration of
Human Rights?

A. 1946
B. 1947
C. 1948
D. 1949
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35.

Consider the following statements regarding the

function of National Human Right Commission

1. It undertake and promote research in the field

of human rights

It spreads human right literacy among various

sections of society

3. ltencourages the effort of non-governmental
organization working in the field of human
rights,

o

Which option is correct?

A. Only 1 and 2 are true
B. Only 2 and 3 are true
C. None of these are true
D. All of these are true

. Consider the following statements regarding

Panchayat system.

I. It has been inserted into Indian Constitution by
44" constitutional amendments.

2. Seats shall be reserved for Scheduled Castes,
Scheduled Tribes and Women.

3. Panchayats will be constituted at the village,
intermediate and district levels.

4. In normal circumstances every Panchayat shall
continue for four years.

Which group of statements is correct?

A. land?2
B. 2and3
C. 3and4
D. land4

- Provisions regarding the Administration and

Control of Scheduled Areas and Scheduled Tribes
are given in

A. Third Schedule of India Constitution

B Fifth Schedule of India Constitution

C. Seventh Schedule of India Constitution

b Ninth Schedule of India Constitution

. Which one has not held office of the president of

India?

A. V. V. Giri

B. Neelam Sanjiva Reddy

C. R. Venkataraman

D Bhairon Singh Shekhawat
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Core philosophy of Community Development
Programme of 1952 was

A. Overall development of rural areas

B. Developing friendly relations in religious community
C. Linking different cities of India

D.  Facilitating cultural development of Indian tribes

The ‘Green Revolution’ is about

A. Hybrid seeds, chemical fertilizer, pesticides and
developed irrigation

B. Adoption of organic method of cultivation

C. Engaging NGOs for preventing forest
destruction

D. Developing houses for tribal people

What is the full form of AIDS?

A. Acquired Immune Deficiency Symptom
B Acquired Immune Deficiency Syndrome
C. Acquired Immune Defense Syndrome

D Achieved Immune Deficiency Syndrome

Full form of RAM is

A. Random Access Memory
B Read Also Memory

C. Read Access Memory

D Random Also Memory

Which one is not a communicable disease?

A. Diabetes

B. Hepatitis B
C. Ebola

D. Tuberculosis

Which one is not correct about Mahatma Gandhi
National Rural Employment Guarantee Act
(MGNREGA)?
A. MGNREGA is the largest work guarantee
programme in the world.
B. The Act provides a legal right to employment
for adult members of rural  households.

C. Employment must be provided within 50 days
of being demanded.
D. At least one third beneficiaries have to be ‘.
women.
Definition of domestic violence under ‘Domestic
Violence Act, 2005’ includes

I. Physical abuse

2. Sexual abuse

3. Verbal and emotional abuse

4. Economic abuse

Which option is correct?

Only 1, 2 and 3 are correct
Only 2, 3 and 4 are correct
Only 1 and 2 are correct

All 1, 2, 3 and 4 are correct
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Section D

Deductive method proceeds

A. From general to particular
B. From particular to general
C. From general to general

D. From particular to particular

Which of these is not a method of data collection?
A. Questionnaires

B. Interviews

C. Experiments

D. Observation

What would be the mean of the given numbers?
8,5,13,2.5,6.5

A 6

B. 6.5

C. 5

D. 7

Who has given the concept of ‘Ideal Type'?

A. Karl Marx

B. Max Weber

C. Emile Durkheim

D. Talcott Parsons

. Which one of these is statistical analysis software?

A. SPSS

B. AUTOCAD

C. Abode Acrobat

D. TURNITIN

Which of the following terms correctly describe
data that were originally collected earlier by a
different person may be for all together a different
purpose?

A. Primary Data

B. Secondary Data

C. Experimental data

D. Field notes

“Empirically verifiable observation” is ...
A. Theory

B. Value

C. Fact

D. Statement

Random sampling is helpful as itis .........
A. An economical method of data collection
B. Free from personal biases

C. Reasonably accurate

D. All of the above
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Consider the following statement about

‘ethnographic study’

1. This method is useful in ‘cultural studies’

2. Census is one of the example of ethnographic
study

3. Franz Boas and Malinowski are some of the
early ethnographers

Which is the correct option?

A. Only 1 and 2 are true
B. Only 2 and 3 are true
C. Only I and 3 are true
D. All are true

When sample is being selected on the basis of

characteristics of a population and also by taking

into account objective of the study, it is called

A. Purposive Sampling

B. Cluster Sampling

C. Random Sampling

D. Stratified Sampling

Which element does not constitute the component

of scientific method?

A. Element of empirical observation.

B. Element of verifiability.

C. Element of objectivity,

D. Element of absolutism.

Which one is not a premise and postulate of

Functionalism?

A. It involves the prior conceptualization of a
system.

B. A system is equivalent to the sum of its parts.

C. The elements of the system are functionally
inter-related.

D. Every elements of the system has contribution.

Which one is correctly matched?

Spencer------ Functional Alternative
Durkheim-------- Social Fact

Radcliffe Brown--------- Conflict Theorist
Malinowski -=---------- Organic Functionalist
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59. Pilot Survey is generally done

A.

B.
C.
D.

Before the actual survey

After the actual survey

At the mid of the survey

Is not necessary where actual survey is
proposed.

60. Consider the following statements about
questionnaire

1.

Open-ended questionnaire allows better access
to respondents’ feeling.

Tabulating closed-ended questions is
comparatively easier.

Closed-ended minimizes the possibility of
incorporating new ideas.

Which option is correct?

A. Only I and 2 are true

B. Only 2 and 3 are true

C. Only I and 3 are true

D. Allare true




